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1 |deiEE 4.6E+1 459 1.0E-1| 4.9E+0 5.0 50.9
2 |EHE 1.4E+1| 1.5E+1 29.1 2.5E+2 250.0 279.1
3 |BEFE 1.5E+1 14.8 14.8
4 |EHE 5.0E-1| 5.7E+1 57.4 57.4
5 |#EE 2.2E+1| 5.7E+ 2.7E+4 27,078.9 4.9E+2 490.0 27,568.9
6 [ILZE 2.5E+0 25 25
7 |fRBE 45E+1| 29E+2 335.0 1.9E+4 18,824.5 19,159.5
8 |ZWE 2.3E+0| 5.9E+0 8.2 3.8E+3 3,818.7 3,826.9
9 |HAE 7.3E+0 7.3 7.3
10 [HER 6.0E-1| 8.1E+1 81.9 2.1E+3 2,140.0 2,221.9
REEET! 1.0E-1| 4.8E+2 485.0 2.8E+3 2,800.0 3,285.0
12 |FER 2.3E+1 22.7 9.7E+1 97.0 119.7
13 |REHR 1.1E+2 106.8 106.8
14 |[#E)E 2.0E-1| 3.9E+0 41 1.7E+1 17.0 21.1
15 |#iRE 8.8E+0 8.8 8.8
16 |[EWE 9.3E+0 9.3 9.3
17 |RINE 4.2E+1 417 417
18 |f&@HE 7.2E+0 7.2 7.2
19 [ILEE
20 |RBFR 1.3E+1 13.1 13.1
21 |IKEBR 1.1E+0[ 7.4E+1 2.8E+3 2,875.1 2,875.1
22 |EEEIR 1.0E-1| 1.6E+1 16.1 1.1E+1 11.0 27.1
23 |BHE 3.9E+1 38.9 38.9
24 |=ZER 2.4E+0 24 2.4
25 |#HER 3.8E+0 38 338
26 |REAT 5.7E+1 57.1 57.1
27 | KBRAF 14E+1| 7.6E+0 21.6 216
28 |EER 3.3E+1 2.6E+1 59.3 59.3
29 |ZRER 1.7E+1 17.4 17.4
30 |FOERILE 5.2E+0 5.2 52
31 |BWE 7.0E-1 0.7 6.6E+3 6,600.0 6,600.7
32 |BRE 2.5E+0 2.5 25
33 |EWLE 42E+1| 3.9E+ 80.6 80.6
34 |[LER 1.3E+0[ 1.1E+1 2.3E+3 2,312.7 1.1E+2 113.0 24257
35 |ILOg 8.9E+0| 6.7E+0 15.6 3.0E+4 30,000.4 30,016.0
36 |fESR 2.8E+0 2.8 2.8
37 |BNE 2.8E+1| 4.0E+ 68.3 4.0E-1 0.4 68.7
38 |BER 9.9E+0| 9.7E+1 2.9E+2 396.5 3.9E+4 39,450.0 39,846.5
39 |E58 7.4E+0 74 74
40 |fEREE 1.2E+1| 21E+1 33.1 2.2E+2 222.0 255.1
41 |*EER 1.8E+1 17.8 17.8
42 |RBE 5.9E+0 5.9 2.5E+0 2.5 8.4
43 |EEARER 1.3E+1 12.6 12.6
4 | KRR 8.1E+1| 6.1E+1 142.2 2.0E+4 20,000.0 20,142.2
45 |FIFER 2.1E+1 21.1 21.1
46 |EBESER 5.3E+0 53 53
47 | HEER 40E-1| 29E+0 33 4.0E+2 400.0 403.3
£ H 28E+2| 19E+3| 32E+4 34,585.0 1.0E-1| 1.3E+5 1252415 159,826.5
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